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Right triangle PQR is to be constructed in the xy-plane so that the right angle is at
Pand pg is parallel to the x-axis. The x- and y-coordinates of P, Q, and R are to

be integers that satisfy the inequalities -4 < x < 5and 6 <y < 16. How many
different triangles with these properties could be constructed?

A. 110

B. 1,100

C. 9,900

D. 10,000

E. 12,100
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A company that ships boxes to a total of 12 distribution centers uses color coding to
identify each other. If either a single color or a pair of two different colors is chosen to
represent by that choice of one or two colors, what is the minimum number of colors
needed for the coding? (Assume that the order of the colors in a pair does not matter)
A4

B.5

C.6

D. 12

E.24
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In the integer 3589 the digits are all different and increase from left to right. How

many integers between 4000 and 5000 have digits that are all different and that

increase from left to right?
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Pat will walk from intersection X to IntersectionY along a route that is confined to the

square grid of four streets and three avenues shown in the map above. How many routes
from X toY can Pat take that have the minimum possible length?

(AY6 (B)8 (C)10 (D) I4 (E) 16

V @nusAy
g anuany
D anudAy

4th Street

3rd Street

2nd Street

| st Street
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With the throw of two dice, what is the probability that the sum will be a prime number?
4

A —
11

B. T
S
C. 12
D S
11
.
2
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A hotel has five single rooms available, for which six men and three women apply.

What is the probability that rooms will be rented to three men and two women?

23
112
B.
251
GANNLY
21
D. 2
9
E. 5
8












6.2 MR AN HSIBA S ERSRPRIN

What is the probability that event E or event F or both will occur?

(1) The probability that event E will occur is 0.6.

(2) The probability that event F will occur is 0.4.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
B. Statement (2) ALONE is sufficient, but statement (I) alone is not sufficient.

C.BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is
sufficient.

D. EACH statement ALONE is sufficient.
E. Statements (1) and (2) TOGETHER are NOT sufficient.
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If 2 different representatives are to be selected at random from a group of IOlemponees and
if p is the probability that both representatives selected will be women, is p>2 ?

(1)More than % of the 10 employees are women. |

(2)The probability that both representatives selected will be men is less than; .

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (|) alone is not sufficient.

C.BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.
D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.
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